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For the profiles to be parallel, each set of corresponding line segments must be parallel.  To start with the three 

line segments on the left, the rise represented by µ2−µ1 must equal the rise µ8−µ7, and µ8−µ7 must equal µ14−µ13. 

This is two contrasts that equal zero: 

 

µ2 − µ1 – µ8 + µ7 = 0 and µ8−µ7 –µ14+µ13 = 0. 

 

There are two contrasts for each of the four remaining sets of three line segments, for a total of ten contrasts. 

They appear directly in the contrast statement of proc glm.  Notice how each row adds to zero; these 

are contrasts, not just linear combinations. 

 

   contrast 'Plant by MCG Interaction' 

         combo -1  1  0  0  0  0   1 -1  0  0  0  0   0  0  0  0  0  0, 

         combo  0  0  0  0  0  0  -1  1  0  0  0  0   1 -1  0  0  0  0, 

         combo  0 -1  1  0  0  0   0  1 -1  0  0  0   0  0  0  0  0  0, 

         combo  0  0  0  0  0  0   0 -1  1  0  0  0   0  1 -1  0  0  0, 

         combo  0  0 -1  1  0  0   0  0  1 -1  0  0   0  0  0  0  0  0, 

         combo  0  0  0  0  0  0   0  0 -1  1  0  0   0  0  1 -1  0  0, 

         combo  0  0  0 -1  1  0   0  0  0  1 -1  0   0  0  0  0  0  0, 


